
Nationally Significant Infrastructure Project 

Part 1 

What is an aviation NSIP? 

(1) Airport-related development is within section 14(1)(i) only if the development is— 

(a) The construction of an airport in a case within subsection (2), 

(b) The alteration of an airport in a case within subsection (4), or 

(c) An increase in the permitted use of an airport in a case within subsection (7). 

(2) Construction of an airport is within this subsection only if (when constructed) the airport— 

(a) Will be in England or in English waters, and 

(b) Is expected to be capable of providing services which meet the requirements of subsection (3). 

(3) Services meet the requirements of this subsection if they are— 

(a) Air passenger transport services for at least 10 million passengers per year, or 

(b) Air cargo transport services for at least 10,000 air transport movements of cargo aircraft per 

year. 

In this section— 

“Air cargo transport services” means services for the carriage by air of cargo; 

“Cargo” includes mail;  

“Cargo aircraft” means an aircraft which is—  

Designed to transport cargo but not passengers, and engaged in the transport of cargo on 

commercial terms; 

So clearly the Planning Act 2008 is clear that a Nationally Significant Infrastructure Project for 

Aviation as submitted by Riveroak is to build a new airport for Cargo that will provide 10000 air 

transport movements for increasing the transport of Cargo to and from the UK and is based in 

England (or English waters) 

Clearly the Planning Act is silent on how long after completion the airport has to achieve this goal 

but it would also be clearly a nonsense if achieving this took many years after completion. 

Part 2 

When Riveroak (RSP) submitted their application the justification that was used was that Dr Dixon 

had created forecasts that showed 10000 atms being successfully reached after Year 6 and this is the 

only place within the submission the NSIP is justified. 

Clearly there would be little point in creating a new Cargo airport that just moved Cargo from one 

airport to another along with making people redundant in one area and employing people in 

another. There would be no net gain for England PLC. 

Also clearly there would be little point in creating a Cargo hub that wasn’t profitable (viable) 

however this is clearly what Dr. Dixon’s forecasts are (fig 1) and she was NEVER asked to forecast a 

viable airport therefore what she produced was clearly a “wish list” without considering whether it 

could be sustainable over the long term and this isn’t what the NSIP process was designed for. 
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Fig 1 

Part 3 

Deeper analysis of the freight forecast provided by Dr. Dixon shows that in year six the airport will 

reach 10144 atms carrying 181436 tonnes of cargo however it is interesting when you examine 

where she obtains her forecast. 

In year 3 freight ATMs leap by 10% with Freight increasing by 12% and then in year 4 ATM’s increase 

by 67% and freight by 54% whereas before and after the increases are in single figures. (Fig 2) 

If the ATM’s do not have this unnatural increase at years 3 and 4 then clearly the 10000 would not 

be achieved until year 20 (as per fig 3) 
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Fig 2 

 

Fig 3 

Further the freight forecasts are further deeply flawed when you examine the average tonnage per 

aircraft movement. With reference to figure 2 although the average load does change the tonnages 

only vary between 17.23 (lowest) and 19.84 (highest). 



Nationally Significant Infrastructure Project 

The actual tonnage would then seem to be incredibly low when you look at past history and the 

reason why cargo freighters are used in the industry. Discounting Postal services the vast majority of 

Cargo freighters are used to transport “Just in Time” freight and perishables along with high value 

Medication and Electronics. Only perishables and fresh cut flowers were historically a market that 

Manston succeeded in attracting and many freighters arrived fully laden and departed empty (an 

average of over 50 Tonnes per ATM). 

To use an average of only 18 tonnes per ATM is strange in the extreme and would be even stranger 

when you consider that Dr Dixon makes much of the loads being turned away from Heathrow and 

trucked to airports on the Continent simply because London airports are allegedly constrained. 

The maximum load for an HGV on UK motorways is 38 Tonnes however the normal is between 25 

and 35 tonnes dependent on the volume per load. 

So if loads are being turned away from London airports why a fully laden HGV would be diverted to 

Manston just to transfer the load onto two aircraft makes no sense at all? 

It does however make the justification for a Cargo NSIP easier as the 10000 is reached in year 6 but if 

an average load of 50 tonnes is used then 10000 would NEVER be achieved. (fig 4) 

 

Fig 4 

Conclusion 

When you strip out the verbiage, the many reports, and the forecasts this “NSIP” and the resultant 

application for a Development Consent Order relies completely on the Azimuth forecast for ATM’s. 

Mathematics can do many things but what it cannot do is prove (1) it is viable and (2) is possible to 

achieve 10000 ATMs without manipulating the forecast. 

 HGV’s are cheaper to deliver cargo 

 HGV’s would carry more tonnage than Sally Dixon’s cargo freighters 
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 HGV’s would be less polluting to the environment and because they carry more less HGV’s 

would need to be on the road network. 

It would seem on the face of it that Dr Dixon was asked to provide an unviable forecast gamed to get 

an NSIP justification and when you remove all the many words written by RSP this is the only 

justification provided in their application. 

Dr. Dixon has failed to provide any justification for 10000 ATMs and neither can she show that these 

ATMs would increase jobs or tonnage except by taking away those from other airports in England. 

Whether the ExA has looked at the why in amongst the massive workload they took on I don’t know 

but this is at the end of the day an application to open a Cargo Hub that the statistics do not support. 


